2332

O
(G

®) &)

SINGLE ELECcTRONIC CoONTROL KIT

INsTALLATION INSTRUCTIONS

Congratulations on your purchase of a new Single
Electronic Control kit. This kit was designed to provide
inflation control of your air helper springs. This kit will be an
asset to your vehicle, meeting nearly all of your air supply
needs.

Please take a few minutes to read through the instruc-
tions, identify the components, and learn how to properly
install your Single Electronic Control Kit.

NoTE:

The Single Electronic Control kit can be used withall air helper
spring products. Ifyouare installinganair suspension system,
do not install the air line tubing to the air springs as stated in
the suspension system instruction manual. If you are adding
the Single Electronic Control kit to an existing air suspension
system, you will need to deflate the air springs and remove the
air line tubing.

NOTE OF CONNECTIONG THEAIRLINE TUBING

Cut the air line tubing as squarely as possible. To
connect the air line tubing to the fittings, push the tubing into
the fittings as far as possible. If for any reason the tubing must
be removed, first release the air pressure from the air helper
spring. Push the collar toward the body of the fitting and then
pull outthe tubing. Toreassemble, make sure the tubing is cut
squarely and push the tubing back into the fitting.

TooLs NEeDED:

Center Punch 3/8" ElectricDrill
3/16 Drill Bit 1/4” Drill Bit

Wire Crimpers 2-7/16" Wrenches
3/8"Wrench 10mmWrench
PhillipsScrewdriver  FlatScrewdriver
Hacksaw

PARTS LIST
HEIGHT SENSOR 2388 1
AIRCOMPRESSOR 9285 1
30 FT. AIR LINE 9008 1
WIRE HARNESS 9276 1
SOLENOID 9107 1
COMPRESSORT-FITTING 3066 1
HOSE CLAMP 1
PUSH-TO-CONNECT

T-FITTING 3025 1

LINK ARM

M5 JAM NUT

3/16" FLAT WASHER
10-32BOLT
#10WASHER
10-32NUT

1/4"-20 x 1" HEX BOLT
1/4" FLAT WASHER
1/4"-20 HEXNUT

NNNOOOOO ONPE

24-8359

01-07

NAD-35562



2332

RELAY
20 AMP o
FUSE
. RED(+)
12V. CONSTANT
10 AMP RED =5 O BLACK
FUSE
YELLOW oo ED:CYELLOW/GREEN
RED(+)
/—
12V. CONSTANT
BLUE(+) SOLENOID -/
12V. INGINTION RED/BLACK Eu:u—RED
) ( 72\

iy - AIR LINE—\

-

BLACK (TO GROUND) D@

AIR FILTER

MALE AIR FITTING
AIR LINE

MOUNTING BRACKET

Qo;/o
HEIGHT SENSOR

O ] [

_ PUSH-TO-CONNECT
I‘A’ T-FITTING
| == @/‘
<>
LABEL MUST BE B
ON BOTTOM
| WHITE
(TO GROUND)
a
AXLE AIR SPRING AIR SPRING
(sold separately) (sold separately)

FIGURE “A”




STEP 1-PREPARE THE COMPRESSOR AND EXHAUST VAVLE

ANGLE BRACKET s
/ Install the Compressor tee fitting into the threaded output port on the
compressor head, see Figure “A”. Tighten the fitting sufficiently to engage at
least two threads with the pre-applied thread sealant. DONOT OVERTIGHTEN
THEFITTING. Install the exhaust valve into the female end of the “T” fitting.
Tighten the exhaust valve sufficiently to engage to thread sealant. Crimp afemale
spade terminal to both wires coming out of the exhaust valve.

STEP 2—- MOUNT THE COMPRESSOR
HOSE CLAMP Begin by removing the negative battery cable. Selectaconvenientlocation
\ to mount the compressor. This location should provide ample air flow and be

AXLE HOUSING protected from airborne debris and moisture. The mounting surface should be
rigid to support the compressor. Make sure that the wire harness will reach form
PIOUTE HOSE CLAME the compressor to the anticipated location of the height control sensor. The
compressor is oil-less and can be mounted in any orientation necessary for
Figure "B" installation.

Mark the four compressor mounting holes using the compressor as a
template and center punch, and then drill four 3/16" holes. Any burrs
in the holes should be removed to prevent damaged to the rubber
isolators. Mountthe compressor using the supplied 10-32x 1" machine
screws, 10-32 lock nuts and 3/16" washers.

Attach the black wire from the compressor to a convenient
ground source on the vehicle. Most any metal connection point
common to the vehicle frame should be suitable.

STEP 3 — SELECT A LOCATION FOR THE HEIGHT
CONTROL SENSOR

Review Figure “A” and “C” to become familiar with the instal-
lation of the height sensor. The height control sensor should be
mounted on the frame rail or body of the vehicle. The height control
sensor mustbe inalocation thatwill allow the link-arm to reach the axle
housing and be attached without any interference. The sensor-armon
the height control sensor must have enough clearance to operate freely

throughout the full 100 degree range of motion.

100 DEG.
MAX TRAVEL

Figure"C"

CAUTION: The sensor arm can not travel past the
mechanical stops or permanent damage to the sensor will
occur (see Figure “C™).

STEP 4- MOUNT THE HEIGHT CONTROL SENSOR

Mount the height control sensor in a location where it may be attached to the frame so that the arm extends over the axle.
The sensor must be in a location where the link-arm can reach from the sensor to the axle housing. The height control sensor can
be attached directly to the frame rail above the axle. To attach the height control sensor to the frame, use the mounting holes on
the sensor as a template to mark and drill two 1/4” holes. Use the 1/4”-20 x 1" hex bolts, 1/4”-20 nuts and 1/4” lock washers to
secure the sensor to the frame.

STEP 5 - MOUNT THE ANGLE BRACKET

Place the angle bracket on the axle directly beneath the sensor arm. This bracket does not have to be on top of the axle.
Find a location free from obstructions, such as brake lines. Place the hose clamp around the axle and the angle bracket and tighten
the clamp. Ensure that the hose clamp does not clamp over the brake line, asto avoid damage to the line, see Figures "A" & “B”’.

STEP 6 — ATTACH THE LINK-ARM

Measure the distance from the angle bracket on the axle to the linkage on the sensor arm. Ensure that the arm on the
height control sensor is aligned horizontally. Layout the linkage with the same distance measured above. If the threaded rod is
too long it can be cut to length using a hacksaw. Install the M5 jam nut over both ends of the threaded rod, cut if needed, and
then install the linkage on both ends of the rod. Connect the rod to the linkage on the sensor arm and the linkage on the axle bracket.
The linkages can be screwed up or down on the shaft for fine adjustment of the height control sensor.



STEP 7 — ROUTE THE AIR LINE TUBING

Cut a piece of air line tubing that will reach from the compressor to the air springs. Cut the air line tubing as squarely
as possible and inset the tubing into the push-to-connect “T” fitting on the compressor. Insert the other end of the air line tubing
into the other push-to-connect “T” fitting. Run the air line tubing from both ends of the “T” fitting to the air springs, see Figure
“A”. Do not fold or kink the air line tubing. Use the tie wraps included in the Kit to secure the air line tubing to the vehicle.

STEP 8 - ROUTE THE WIRE HARNESS

Insert the Packed connector into the height control sensor. Attach the white wire fromthe wire harness nextto the Packard
connector to a convenient ground source on the vehicle. Most any metal connection point common to the vehicle frame should
be suitable. Route the wire harness to the compressor and the exhaust valve. Use the tie wraps included in the kit to secure the
wire harness to the vehicle. Mount the relays inadry area around the compressor. Connect the black wire from the exhaust valve
to the red non-fused wire with the male spade connector in the wire harness. Connect the yellow/green wire from the exhaust
valve to the yellow wire in the wire harness. Connect the red wire from the compressor to the red/black wire off the relay. Both
red wires coming out of the wire harness should be attached to a positive 12V D.C. supply capable of handling 20Amps. The blue
wire hasto be connectedtoa 12V D.C. supply thatisanignition controlled circuit, see Figure “A”. Consultyour dealer or vehicle

owners manual for wiring diagrams.

CAUTION: DO NOT splice into any wires within the wire harness.

TEST THE SYTEM

This now completes the installation. Re-attach the negative battery cable to the battery. When the vehicle is loaded,
the height control sensor will detect the reduction in ride height. The compressor will inflate your air springs until the proper ride
height is achieved. When the load is removed, the air springs will automatically be deflated to achieve a normal ride height. If
your vehicle does not achieve the desired ride height, the length of the link-arm may be increased or decreased.

Note that after a load has been placed on or removed from the vehicle there will be a delay of a few seconds before the
height control sensor responds to the change in ride height.

www.riderite.com



